The law of conservation of momentum						1/11/16

In a system, _______________________________ is neither _________________________nor 
_____________________________. In other words, total momentum is __________________________. 
Two Types of Collisions
	_______________________: Kinetic energy is not lost to friction, acoustical (sound) energy,  heat, etc.
		For example: collisions on ice, in space, air hockey table






	

             ________________________: Kinetic is lost to friction, heat, acoustical energy, etc.
		For example:  car crash, train cars connecting










Formulas:
Elastic collision:
		
		

m1 = __________________________________________________________________________
		v1 = __________________________________________________________________________
		v1f = __________________________________________________________________________
		m2 = __________________________________________________________________________
		v2 = __________________________________________________________________________
		v2f = __________________________________________________________________________
		
	
Inelastic collision:
		
		

m1 = __________________________________________________________________________
v1 = ________________________________________________________________________
m2 = __________________________________________________________________________
v2 = __________________________________________________________________________
vf = __________________________________________________________________________



Example #1:
Two objects are on a course to collide with one another elastically. Object A is 20kg and is moving 8 m/s to the right. Object B is 10kg and is moving 12 m/s to the left. After the collision, object B is moving 2 m/s to the right. What is the magnitude and direction of Object A’s velocity after the collision?
Formula:______________________________________________________________________




	

Example #2
[bookmark: _GoBack]One car is on a course to collide with one another inelastically. Car A is 140kg and is at rest. Car B is 170kg and is travelling at 80m/s. During the collision the cars attach at the bumpers. What is the final velocity of the cars?


